JUNE 2024
CA FOUNDATION ECONOMICS EXAM PAPER

Q.1. Unde pragnetic aoproach, micro economics is abstrad: and purdy
in nahmre and takes assumptons

(@) Pragmatic, Urrealistic (b)  Practical Realistic

(c)  Theowetical, Unrealistic (d)  Theoretical, Redlistic
Q.2  Which of the following is the sulject matterof macroecononics?

(a) Behaviorof firns (b) Factor Pricng

ic) Owvemral levd of savings and imvestmetis
{d) Theeoonomic condtion of section of people

Q3 MrX had been gven a task to segedgate nommative and non-nometive
staterments. Help him to identify which one of these is normative economic
statement?

(@) Pollution level is rising day by day becanse of ubanization

(b}  The part tirne working hours of students should be incressed to 25 hours
perwesk

{c) Due to the inoeased mumber of cars on 1oads, people will be stidk in
iraffic jams

(d Thegovermment has allotied a mgor portion of reverue in defense.

Q4. What is the nahme of business economics, which is an gpplied branch of

©0onomics?

(a) Itis positiveinnahare

(b} Iisnommive in nahme

{c) Itispeutsl innahue

(d Itisbothpositive aswell as nommtive in nature,

().5. Which statenent differertiates Business Economics from Economics?
(@) I isabsiractinnahmre
(b} Lisanamowerconcept than Foomomics
{c) Iisnodifferent fromEconomics

(d Itispragmatic in nahme

Q6 Consunmption of highly priced goods by stahis seeking rich people for
conspicuous consumption is called as
(8 Srobeffect bt Bandwagon effect
(c) Demonstraion effect d) Vebeneffed

Q.7 If the quantity demanded of ooffee increased by 6% the price of tea incresse by
2F% the auss elasticity of damand betweencoffeeand teais
@ -032 by 032 ) 315 @ -31>5
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Q8 Caloulate the price elasticity of denand when the price increeses from Bs. 2010
Rs22 and quantity demanded falls from 3000 to 2000 units (Micipoint method)
(a) 42 (b) -4.2 ) 4 d -4

Q9  Mr. Z went to a stationery shop to buy pens. The price of pen decreased from %5
to I3 per umit. If the price elasucity of demand for pen 1s 2.5 and the arginal
quantity demand for pen is 20, then how much i the new quantity of demanded.
@ 10 b 40 e} 30 d 20

JHEDRY OF CONSLMER BEHAVIOUR

Q.10 Ram wanted to pumchase an Apple tab & Rs12,000¢, Achual price in the
marketiMRF) is Rs11,0004 and discount was given at 20%. Also there is an
additional cash disoount of Rs300, Find consumers srdus.

(a) 3200 (by 3500 (c) 1000 d 3300
.11 When the total income of a consumeris Bs.750 find out the prices of pancake &
muffins respectivelv.

]
° Parcalm M

fa) 1o3v b} 3015 (© 5025 d 2550

Q12 A point ahove the budget line of a consumer represents
(a)  Represents costs less than the whole consumers income
(b Represents combination of goods which ocosts whole of consumers
hoome
{c)  Repesents a combinalion which is totaly unatainable
(d)  Representsacombination that is attanable

JHEORY OF SUPPLY
Q.13. When factors other than price changed causes the suprly curve toshift totheleft,
thenitis
fa)  Expansion of supdy (b} Contraction of supply
(€ Increaseinsupdy (d  Decreasein supply
THEORY OF PRODUCTION

Q.14 Circulating capital means
(a) Captd is carable soirce which gives retums for a spedific period
(b) Interestgenerded from capital and refnvestad to eam more interest
() Capitd performs its production function in single use and not used further
(d) Used for series of services over a period of iime

Q.15. A person wert to buy a lnd, and he thought one among the fallowing is wiong

feahre with regarding to land
(a) Homogeneous (b) Heterogeneous
{c) Inmmobile (d) Limitedin Supgy
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Production Analysis L Jd
L P MP
1 200 200
2 380 180
3 > 160
4 680 -
5 120
Q.16 Wwﬂanﬂmﬂmnd%mﬂ
(a 120 (by 140 © 120 d 160
Q.17. Whatis the intal oulput at 3rd umit?
(a) 5 (b) 68 € 540 (d 600
Q.18 What is the Average product of Sth unit?
(a) 200 (by 160 € 19 (d 80
(.19 Which of the following defines dl those combinations of inpuis which are
capable of producing the same level of outputis
{a) Indifference curve {(b) Isoqun
fc) Isooost (d) Budgetline
THEORY OF COST
). 20. Which of the following is called eswvelope carve?
{a) Average fixed cost oumve by  Shortnm average cost ourve

{c) Longnm avemage cost curve (d Aversgevariable cost curve
Q2]. Find ot A and B fiom, the following table

Q Tolal Cost | FixedCost | Variable Cost | Marginal Cost
10 1300 500 & =

20 1500 500 1400 60

35 A 500 2100 B

(a) 2600467 (b) 260050 (o 2660467 (d) 266047
Q.22 The shape of 1ong nmn average costanrve depends upon.

{a) Lawof ums (b} Rehnsioscde

(¢}  Diminishing relums {d} Law of variable proportions
0Q.23. Thenomal rebims on money capital invested by the enbreprenan hitneelf in his

own business is an example of

(a)  Explicit cost (b} Extamal cost

(c) Privatecost (d) Imgplicit cost

QZ&Thﬁmwmd:dmmmmedmﬂnﬁnnamhasmﬁﬁm
lesse payirent éc, ae
(@  Implicit cost [h] Opportunity cost
(c) Ouflaycost id Eoconomiccost
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Q75 Fromthe doggamanser o fllowing E] /12

e ra
@ A =MC B=ATC,C=AVC, D=AFRC R
(b) A =AC,B =MC, C=AVC,D =AFC

(©) A =AFC,B=ATC,C =AVC,D=MC

{d A=MC, B=AVC,C=ATC, D =ARC

Q.27. Incresse in demarnd and decrease in supgy causes
(a) Ecuilibrivm Price uncertain, Equilibrivm quantity falls
(b)  Ecquilibrium Price rises, Equilibium quantity falls
(c)  Ecpilibwium Price rises, Equilibrium quantity uncertain
(d)  Equilibiium Price falls, Equilibrium quantity uncertain

Q.28 Fmnd the mamginal revenue (MR) of markets A and B respectively, Where the
AR in both the market is 21 and elastidties of demand and inmerket A and B

are 3 and 7 respectively
(a) 139 179 ) 1418
cy 1718 d 1218

D1 & S1 ae origind demard and supply anve, D1, D3, D2, 52, S3 are possible new

derrend and supply aurves. Starting foreq point (1), what is the new eqfar each change.

Q.29 P visited supermarket for puochesing Jam If the income of P incresses and
Prices of factor reduces, what is new eq price

@@ 7 b 2 € 4 @ 9
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Q.30. Hesy stoemn in Tamil Nadu caused damage to crops. What B new eqporice &

quantity.
@ 4 b 3 ) 2 d 6
Q.31. Edward expects arise in price of motorcycles in next year, What is new aq price.
@ 5 b) 4 c 6 d 9
Q32 h which market the price elasticity of demand is infinity?
(a) Pefed competition (b) Moropolistic competition
()  Oligopoly (d) Monopoly
Q33. Straegic interdeperdence is a characteristic of which type of matket?
{a) Moropoly (b) Peafect competition

(c) Monopolistic competition (d} Oligopoly

Q.34 Relation between AR and MR in a nonopaly is staled as
(@ AR canbezero, MR can be ze10 or negaiive
(b) AR and MR hoth are upward sloping
(c) AR curvelies hdfway between MR and y-axis
(d}  Slopeof MRis twice that of AR

Q.35. Inwhich ﬁmnd’tmﬂ-aat pamﬂsmﬂmuglﬁtswmbjﬂmmm

(@}  Perfect competition (b) Moropoly
(e) Maropolistic conpetition (d} Oligopdy

Q.36 Which feahne of monopolistic competition differs from perfect competition?

(a) Lawgermmmberof sellers (h)  Freedom of entry and exist
() Productdifferentiation (d) Differentiation adivity
Q.37. Ifdﬁdﬂlt}'dﬂp&‘h‘fﬂ]tlﬁ chaging Rs.3 perunit to fanrers and Rs7 perunit to
industries it is described as
(@) Product differentiation (b)  Pricediscrimination
(c)  Monopay (d)  Differentiation activity

Q.38 When few fims of the oligopolistic market come to a comimon understanding
with each other in fixing price and output, it is called

(8  Syndicate oligopay (b)  Collusive oligopoly
(0) Pafecoligopdy (d) Openoligopoly
BUSINESS CYCES

(2.39 Which is the extermnal cause of bisiness cyde?

(a) Varations in government spending
(b) Macroeconomic polices

{c) Psychological factors (d) Technological shodks
Q.40. The variahle that changes after the real income dhanges is known as
(a) Leading (b)

()  Coincident (@ They donotindicate anything
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Q.41. Find the carrect option L J
1) Hawtrey a) Innovation
2) Plgou b} Maney supply
3) Schunpeter c) Psychological faciors
4) Keynes d) Effective aggregete demend
(a) abcd (b} becad ) abdc (d badc
Q42. When NHA is positive, then
(@ GNPnp<GDPnp () GNPmp <GDPp
{c) GDPmp<GNPnp (d GDPmp>GNPmp

Q43. GDP at Maket Price =
(a) GDP atFactor cost plus net indirect taxes
(b}  NNP at market price minus indirect taxes
{c) GNP at market price plus net factor income from abioad
d) Nonme

Q44 Gross Value acided at market pice (GVAITD) =
(@) Value of Oulput +Change in stock
(b} Value of Culput + Intenvediate consunption
(c) Valueof Output +Change instock - Intarmediate consurmption
{d) Value of Oulput- Intenrediate consurmption

Q45 Disposable perscnd Income
{a) Tota pasond income left after tax deduction at source
() Pawond ncome - Direct Taxes paid by individual - indirect taxes paid by individual
{c) Pemona ncome- pasond income fExves - non tax payments
(d) Pesond income - indirect taxes pad by individual
Using the following information
Q.46. Calaulatethe GDF Deflator for the year 2022 and 2023

Year Naminal GDP In aares (Rs) Real GDP in Crares (RS)
2020 600 600
20 1050 650
202 1250 850
2123 1500 M0
(a) 14706 & 15957 by 100& 16154
() 68&6267 d 400&530
Q47. The inflation rate between the years 2022 and 2023 is
(a -7.64 () -851 (c) 851 d 784
Q48 ncome received by household sector inchiding non-profit nstifition serving
howseholdiscalled
(a) Percapitaincome (b) Persond income
(c) Naliond income {d) Disposal income

.49, Joseph had a shoe campany in US. The profits eamed from its manufachring
it operating in India will comess under
(@ GDPof indiaand GNPof US (b) GDP of US and GNP of India
() GNPofUSandGNPofIndia (d) GDP of USand GDP of India
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Q.60. Whensmoking is conmpletely banned by the govermment in puldic places ikebus
stand, schools, parks etc., then it is an example of
() Dirett control on negative production extemdlity.
(b} Directcontrol on positive production extemality.
{c) Command solution
(d) Direct control on positive consuption extemality
Q.61 Exterralities leads to maket filure lecaise
(a) They always mesidt in negative outcomes for markets causing market
failure
(b)  They represent oot or benefit which are not refl ected in the market price
{c) They ae ahvays assodated with pulic goods and sexvices
{d} They prevent the production of private goods haming mankind.

Q.62 Fiscal federalism in India is mainiained by?

(a) Cenird Government (b) Stategovermment
() RBI [d) Fmnance Commission
Q.63 The molicy designed to restrain the level of econcimic activities of the econony
during the inflationary phase is known as
(8) Expansionary fiscad policy (b}  Confractionary fiscal policy
(c)  Taxation policy (@ Budgetary policy

QE4. In the period of shuggish economic activities, when the rate of utilization of
resources is less, fiscal policy aims to compensate the deficiency in by boosting
(@) Demand private investment
(B  Supgy, expot adivities

(€)  Effective demand agoregate spending
(d)  Production, supply

MONEY MARKET

Q.65 If Velocity=20 Average Price =120 and volume of transactions T = 150CT then
money supply will be
(a) 2500Cr (b) 25Cr fc) 900Cr (d 1000CH

Q.66. Which of the followmng is a fiat money?
(a) Gold Coins (b) SilverCoins
{(c) Cunency Notes
(d) Gold coins, Silver Coins as wdl as cumency notes

Q.67. The harsactionary demand for money is direcly propartional to and is a positive

fumction of
(@) Level of price (b) level of moome
{c) Level of demard {d) Level of interesi rale

QB8. People’s desire to hold cash in order to be equipped to exploit any attractive
investments opportunity requiring cash expenditbure reflects
(@) Trarsaction Motive (b}  Speculative motive
(¢) Precationary motive (d Personal andbusiness exchange
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Q.69 What does the concept of liquidity trep mean?
(@) Liquidity trapis asitugion where the desire to hold bonds is very low and
approaches zero; and the demand to hold money in liquid fom as an
(b} Evenif the public fear adverse evenis (deflation, war), then they prepamre
to hold only bonds a a given 1ate of inberest.
(c) The speculative money denmand curve becommes pardle to the Y axis
(d None

Q7M. Calculate broad money M3?
(@)  Currency with public + derrand deposits with berks
(b Curmency with public + demmend degosits with banks + net time deposits
with the banking system
(¢}  Currency with public + Savings with government banks
(d  Cumency with public + Demeand Deposits with banks + Other deposits

with RBI
Q.71. Calculate aurrency with public
Partiondars {in omes)
Notes with public in circulation 2326,500
Currency of small ooins in drodation 500
Currency of nupee coins in crodation 34,500
Cash in hand with barks 80,615
(@) 2280885 Cnoes (b) 2442115 Crores
(c) 2245885 Crores (d 2362000 Cromes

Q.72 Money Multiplier means
(a) [t derreases the total money supply for a given monetary bese
(b) It dictates interest rabes set by REI
{c) Therdioof noney supply to monetary base:
(d) It conbols amount of gold reserves held by bank

Q.73 Which of the following is not a channel of monetary transmission mechanism?
(a) Saings & investments channel
(b CashFlow Channdl
(c)  Exchangerae charmel
(d) Intemational Trade Chamd

Q74 Open Market purchases of govermment securities by RBI will
fal  Reducethe Money Supply
{h) Reducethe resaves
(c) Inceaseresaves
(d) Reduce the resaerves and there by reduces the money supply

(3.75. Theory of Comparative cost advantage is nnahmeandit  takeinio
acoount of factor price difference
(a) Positive; does (b) Nommative; does not
i€) Podtive; doss not (d Nomative; does
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INIERNATIONAL TRADE ro
(.76 Meacantilism advwocales L J
(a) Aggressive exparis over imports to accumulate weakh
(b} Compadive advantage
(€)  Absolute cost advantage
(d) Faciorendowment

Q.77. GATT was esizhlished in the vear
(@ 195 (by 1948 € 1995 d 2014

Q.78. Under WTO agreemments, the countes cannot nommaly discriminale hetween
their rading patnars, This is referredto as
(@) Nationa Treatment (NT)
{b)  Most Favoured Nation (MFN)
(©)  Promoting Fair Competition (PFC)
(d) Free Trade through negotiation {FTN)

Q.79. Groupof countries that have a free trade agreement between themsatves and mey
apply a comrmon exiiernal tariff to other coumntries is referred as
{a) TradngBlock (b) Free-tradearea
(c) Customs umon {d Economic and monetary umion.

.80. A total ban imposed by the govermment an inpats or export of some or al
commodities to particular courdtry or regions for a spedified or indefinite period

Istermed as
(@) Embamos (b) Safequard mesmure
(c) Distnibution restrictions {d Reslidive measures

(.81. Which of the following is levied as a fixedfoonstant percentage on the money
val e of an imported or exported good?
(@) Advaorem Tanff () Compound Tanff
{c) Spedfic Tanff id) Bound Tanff

Q.82. Which of the following is ot a negative outoome of taniff?
{a) Dereases revenue o the government
(b}  Producars of the importing coumiry increases the well being
(¢} Domestic consumers suffera |oss in consumer surplus
(d) By ignoring comparative advantage, tariffs discourage efficient
prochuction in the rest of the world

Q.83 Aninoesse in Red Effective Fxchange Rate indicates
(a) A lossintrade competitiveness
(b)  Anincease in trade competitivenes
(c) BExports become more chegper
(d Imparts became morecostlier

Q.84 Number of units of a foreign curency can be exchanged for one unit of local
cumency is referedto as
(a) Dired Quote (b) Indirect Quote
(c)  Ewopean Currency {d Cross Quotes
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Q.85

Not a component of FDI acoording to IMF:

{a) Equtycapta (b) Reimestment eamings
{c) Portolio imvestmenis ({d) Intracompanyloans
JNDIAN ECONOMY
Q.86. F-anritisrdated to

Qa7.

Q.88

Q.89.

Q9.

QoL

Q92

(a) Onestopdestinaion forall information on electtic vehides

(b) Fadlitates and improve aocess to Indian government data

{c) Impowves air quality in India by acod erating the deployment of decironic
vehides.

(d Provides asimuius o expaorts and economic growth

Which revolution was maferialized by innovative famm techndlogies including
high yielding seed varieties and intensive use of water; fertil izers & pesticides?
(@ The Greenrevolution (b) The Kisan revolution
(c) TheAquicultire revolution (d) The Fasal revolution

PM Gati Shakti is related to

(a) Empowernentof MSMEs

(b Data basad decisions related to integaied plaming of multimodd
infrasiuchze there by reducing the logistic cost.

(c) Manufacheing of electric and hybrid vehicle technology

{d)y Autbbmatic rade for FDI

Which of the followng Secor confrbutes maximum to India’s Gross Value
Added?

{a) Primay sector (b) Secondary secior

{c) Tertiary sector {d) Al of the above

APEDA- full form

(a) Agriculhral Product Export Development Agency

(b}  Agrculhra Produce Economic Development Association

(0  Animal Procuct Fxport Developmment Authority

(d) Agucultura & Processed Food Export Development Authority

‘Whatdoes the E-NAM (Electronic National Agriculiire Market) aim to achieve?
{a) Increasefamm productivity

(b} Creale aunified national market for agricul ural cammpdities

(c) Provide financial support to fammers

(d}y Prorote organic faming

‘Which of the following cause is recucing the ahility of Indian agricul turalists to
patidpate in domestic as well as export maket?

(a) Low famming productivity and subsistence farming.

(b} Lameamount of maketable sippius with farmers

(c) Dominated by big fanmers and famn productivity

(d) Biglandholdings by small fanmers
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(2.93. What is the main caise athibuted to the immediate need for economic reforms
in 19917
(a) Fiscal defict was financed by huge amounts of domestic and extemal debls
(b)  Forex resarves touched the highest paint
(c)  Persistent huge deficit led to dedlining public delt
(d) Government’s  revenue expenditure consislently lowering revenue

receipts.

Q.94 The Govermment of India has allowed 10(P% FDI in marketing of food produds
and in food product E-commesce under the route.
(a) Aulbngiic (b} Greenchamd roue
(c) Prority route {d Traderoue

0Q595. To develop the mechanism to formmilsie aredible plans at village level and
aqaqregate these progressively at. higher level of government. is an objective of
(a) Ministry of nra development:
(b) NI Aayog
(c) Conmission of policy and plarming
(d) Plaming commission

Q.96 MREIP act, 196D, is aimed at requiation of which had relativel y market power.

(@) LamgeFims, lage (b) Lamefirms, small
(c) Smell firms, small (d Smal firms, medum
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